EARAROBREBRT —5 XN—ZXBISH—F

2022648568 (K) 1O&EH2H

ElcC — s5x4mt

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[xE<] 1 & :1,000,000 . 23 :400,000 . 33&:250,000 4 3&:150,000 9 . 5 & :100,000 /3
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
sy N Y 5 | SNEHE 1:31.1 1-1-1-1 | 38.3| - 1 464 | RFIRF (BEH
108 4| 21— UNDR 72 B =) ) | B
R:FZAINITFH— BiRk—Ry hEFR BHBS
— 2= 4 6 | HEFE= 1:31.6 3-3-3-3 [38.6| — 2 502 | #HEEAR (EH)
207| 7 ASL—U 56.0 3 6o | W) F-2=
Ri/ITURN B:A—R=/N\LA Il B—
> =5 4 5 | ROHEESE 1:31.6 5-5-6-5 |38.2| — 5 500 | GiEE (T
k] « REaEEE4 5.0 F9) ) |EEEZ
Ri—5—yvF B:=S50)LTY "HET7—L
S = KFHZEH 3 ~7-5- - NSRS (k)
4lglo | FUTVILAST w4 | B oA R e P15 |wmxm
RiRIT«4 By RAAT LSHZT7—L
= w B4 | EZHEEK 1:32.3 2-2-2-2 | 39.4| - 4 | 437 |HERf—ER (BM)
5|55 IS5 hyFo0OR 57.0 (1 1/4) 1) (?ﬁ) ~yF7IOv
Rib—trya—sy F:FU-IEUYY ) 11215
<, . TRE : -4-4- - BABH (k)
6178 L—rg(470-T R ) 0 AR ° ‘::)2 ARz —
R:IvITIRTy & BiFTIAL—Y BRRBUS
= S REZN : -6-7- - TIEE (R
7111 |va—sruzs o6 | RER (11312/2% 6-6-7-7 | 39.2 10 (4+5:) gﬁﬁ%ea( )
RiJUTURL BRIV /= BHT7—L
~ B s o4 | EEOR 1:33.6 8-8-8-8 |39.5| -— 7 | 433 |GEE (@R
8 3| TVEYR 56.0 () (4) | EORME
R:RAVTFhF—D7—R—F B:HBI53IzU [EE |
~ ~ ATELE : -10-9- - ERE (EH)
9 ) | PATVIDF DY i 6 s 1.(3;).3 10-10-9-10 | 39.6 9 (if?) ihsk) (B
R:TSADVST— B:FF7RAA—H— RO%U%
_ o <, L0 4 6 | TIFNEt 1:34.5 9-9-10-9 | 40.1| — 8 492 |#IHEE (EH)
10/8|10| h—E¥FUZET 5.0 117 Cy |EAE
R:b—trOLYR B:h—tYTUUT7Y BRAEM IXF«T7—LA
@ 1—F—&BIE(I
13—7F— 4,5,(7,8),6,1,9,3,10,2
20—F— 4,5,7,8,6,1,9,3,10,2
BEIES /S 4,5,7,8,9,6,1,3,2,10
40—7F— 4,5,7,8,6,9,1,3,10,2
0 ILRE
BB 4 200 | [ DA K 4-7 1609 AR 4-7 320 3ER 4-6-7 8304
BB 4 130 4-6 340 o 18 4-7 3304 3Es 4-7-6 2,960M
7 120/ 6-7 330 B H 4-7 540
6 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




